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QUESTION 1

An application was packaged using ThinApp and access is restricted to an Active Directory group called Customer
Services. An administrator needs to remove this restriction.

What should the administrator do to remove this restriction with the least effort?
A. Repackage the application, selecting Everyone from the Setup Capture wizard.
B. Remove the PermittedGroups section from package.ini and execute build.bat.
C. Change PermittedGroups=1 to 0 within package.ini and execute sbmerge.exe.
D. Change PermittedGroups=0 to 1 within package.ini and execute sbmerge.exe.

Correct Answer: B

QUESTION 2

An administrator is planning a new pool for a group of users.

The pool requirements are:

User data must be portable between desktops.

User-installed applications must persist between sessions.

SE Sparse disk will be used to reclaim storage capacity.

Linked-clones will be used to conserve storage capacity.

Desktops will be refreshed on log off.

The administrator plans to use View Composer persistent disks to support the requirements for this pool.
Which requirement will prevent the use of View Composer persistent disks?
A. User data must be portable between desktops.

B. User-installed applications must persist between sessions.

C. SE Sparse disk will be used to reclaim storage capacity.

D. Linked-clones will be used to conserve storage capacity.

Correct Answer: B

QUESTION 3

An administrator needs to customize a single virtual machine from a manual desktop pool. The user must not be able to
login to the desktop while the administrator is performing the customization.
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Which procedure should the administrator follow?

A. 1. Select the desktop pool in View Administrator 2. Select Enter Maintenance Mode 3. Perform the customization 4.
Exit maintenance mode

B. 1. Select the desktop pool in View Administrator 2. Select Disable Provisioning 3. Perform the customization 4.
Enable provisioning

C. 1. Select the virtual machine from the desktop pool inventory tab in View Administrator 2. Select Unassign User 3.
Perform the customization 4. Reassign the user

D. 1. Select the virtual machine from the desktop pool inventory tab in View Administrator 2. Select Enter Maintenance
Mode 3. Perform the customization 4. Exit maintenance mode

Correct Answer: D

QUESTION 4

What are three reasons to choose linked clone virtual machines instead of full clones? (Choose three.)
A. Linked clones reduce the amount of free storage space required for virtual desktops.

B. Linked clones provision faster than full clones.

C. Linked clones reduce the storage IOPS compared to full clones.

D. Linked clones can be reconfigured in large batches by using recompose operations.

E. Linked clones can be used for a broader variety of user types and use cases than full clones.

Correct Answer. ABD

QUESTION 5

An administrator is required to convert a user desktop to a full clone without losing data. Which method will fail to
convert the user\\'s desktop to a full clone?

A. Using the Clone to a Virtual Machine option in vCenter Server
B. Using a storage migration in vCenter Server
C. Using vmkfstools -i to convert the linked-clone VMDK to a full clone and attaching the disk to a new virtual machine

D. Using vmksfstools -M to migrate the linked-clone VMDK to a full clone and attaching the disk to a new virtual
machine

Correct Answer: D
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